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1. Factor x* + 12x + 35. : Quadratic Formula:

(X"'_*)(X 5 ) X_—bix/b2—4ac
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2. Factor 2<+23x+ 11, LA(K T )+ (X - 1\3
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3. Determine whether 4x* — 81 is a difference of two squares. If so, factor.
Yes; (2x+9 Y2x - )
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4. Find the minimum or maximum.of g(x) = —x* — 2x + 8, —> \Y PR
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5. Find all zeros of the trinomial k(x) = x* — 2x — 24 by factoring.
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6. Solve_8_1£<2=_l._
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7. ldentify the vertex and axis of symmetry of g(x) = (x Jg; 0)2¢ 2.
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8. Complete the square to write ¢(x) = x> + 6x + 14 in vertex form.
c)—1H+ 3, = xTolox+ 2

C)-5= (x+3)
CeY = (x+3)*+5)|

9. Solve 36x” + 25 = 0. .
Fox"=-25 —» X"=*5e —5IX=L5q

10. Use the Quadratic Formula to solve x? + 4x + 6 = 0.
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11. Find the discriminant for g(x)=5x*+7x+3, identify the number of solutions and their

type(s). b*YHac FEuE)E) = :?C?;) &E:::—\\ £0,2LImag.
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12. Solve the system by elimination.
{y=X2—1 — —X*+OX +4 = —|
x=y=-1—% Ox*4 X —=_\ ~L

—'X7‘+ X = -
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13. Factor x? :ﬁﬁlx ot ' T T
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14, Factor 7x2 + 20x + 4. ' i

N e / ) 4 (x+u)
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15. Determine whether the binomial is a difference of two squares. If so, factor it. x2 — 100

Yes; (x + 10 )(x - 10)

16. State whether there is a minimum or maximum of g(x) :%x —6x — 32 and identify it. —» 'U‘

mmnmw‘\
- b |
— ==l L), 5 V6, =5 minimwn

\

1‘25 plug-in () +o Ve lad %
17. Find all zeros of the trinomial by factoring: k(x) = 2x* — 5x -/25. I(X~5 ) +S (x-—SB
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18. Solve 225x* = 9. 2_)5 “—l_Xx +5x -25 X=5  x=-5/2 |
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19.1dentify the vertex and axis of symmetry of g(x) = (x — 11)* — 4.
PP kseep
Ni U\ y =4
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20.Solve by completing the square ¢(x) = x2 - 8x + 26
26+l L X2 ax o b
—_ 2 .
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21. Solve 49x% + 100 = 0.
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22. Use the Quadratic Formula to solve x* + 6x + 58 = 0.
A=l b=l ¢ =5%

X= bt (36-4(NED _ —(t o =LY
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23. Find the discriminant for h( ) 9x* —-30x + 26, identify the number of solutions and their
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24. Solve the system by substitution. *Be careful with the “-y” in the second equation!
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—X"_ 44X — 12 =0
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25. Solve the system by graghing
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